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Name: Class: .
4< Divide integers )7
Divide the following expressions below and tick the most correct answer.
1. .70 O 7o 10
7 7
O ; O -
70
2, -375 O -25 125
-15 5
O -2s =]PE
5
3| 3636 L)l 4 1212
-9 3
O 404 O -44
4. -500C -500 500
50 5 5
a -100 100
S, |- 0 1
-1
D -1 -1
1
6. 3960 660 -660
6
(s 1320
D
7. 3960 D 660 D -660
)
O 120 1220
g
8. 10000 O .00 10
-100
[J 2000 O 100
20
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7[ Divide integers >7

Divide the following expressions below and tick the most correct answer.
7
1 70 D 70 10
7 7
O njE
70
2. -375 0O -2 125
<15 ) b
D 125 [SZ wiz
e | 5
3. 3636 m -404 1212
-9 3
D 404 G -44
4. -500 -500 500
50 - | 5 b
d -100 100
5. =l E @) J 1
-1
D 5 -1
;-
6 3960 m 660 -660
6
O & 1320
2
7. -3960 O ss0 EZI/-6~0
(5]
O 10 0O |320
Z
8. -10000 O oo J |00
-100 N
O 2000 & 100
20
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